01 : 2751

Question 2/ 16

The vapor pressure of water [Molar mass = 18.0 g/mol] over a 12.0 m sugar solution at 298
K is (pressure of pure water at 298 K - 23.8 mmHg)

1. ©28.9 mmHg
2. ©23.4 mmHg
3. ©19.6 mmHg
4. ©23.8 mmHg
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Question 4/ 16

For a particular chemical reaction Al
condition Is the reaction spontancous
1. @ Not spontaneous at all Temperture
2. ¢ When T is less than -220 K
3. € Spontancous at all Temperture
4. © When T is less than 220 K

5.5 KJ and AS

25 VK. Under what temperature
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Question 5/ 16
If AH_ of wateris 40.7 KJ/mol, the P of water at 47 °C is
vap vap

R e

c 8.79 torr
c12.4 torr
« 86.6 torr
~61.3 torr

01:24:54 k
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Question 9/ 16

The vapor pressure of pure water at 300 K is 23.76 mmHg and that of an urea solution is
22.98 mmHg. The molality of the urea solution is

c16m

c19m

c232m

c04m

PRAPLIN
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S

llowing reaction: 4 F — 2 AG
e ® -l-.‘:'IOz@ mzoaw » AC
d 15.0¢g ntFe 0 [Mollr mass = 159.7 g/mol] is
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Ouestion 12/ 16

Which of the foliwoing would You expect to have the highest boiling point :
O Nz (Mmass=28 .0 g/mol)
> ()2 (Mmass=32.0 g/mol)
3. rH_(Mmass=2.02 g/mol)

p4

4. c F2 (Mmass=38.0 g/mol)
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Question 14/ 16

Using the follwoing data 172 A — B AH =150. KJ/mol3 B — 2 C + D AH = -125. KJ/mol E
+A > 2DAH=450. KJ/mol The AHforB+D - E+2C

©-175 Kj/mol

~-225 KJ/mol

r-325 KJ/mol

=275 KJ/mol

PN 1
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Question 13/ 16

The work done by the reaction,2Na +2H O -2 N
- %0 Z.NaOHfmarlimﬂn.ugolN:

react with excess amount of water to form Hz at STP condition is (R = 0.08206 L. atm

(mol. K) ')

I r-119KJ
2 F3IS5KJ
3 rHI12KJ
4 r-I38KJ
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Question 2/ 16

|
. The vapor pressure of water M
' S8 : Molar mass = 18.0 g/mol] over a 12.0
K is (pressure of pure water at 298 K = 23.8 mmHg) I e

1. ©28.9 mmHg
2. ©23.4 mmHg
3. ©19.6 mmHg
4. © 238 mmHg

Previous | Next |
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Question 15/ 16
The pH of a 0.5 M solution of NaBr is
ke ©50
2. ©13.6
3. ©92
4. 7.0
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1% 16 17 5 19

01:11:50

Uning the imformation bebew . ¢ aleulaty AR o PO PROG) + COU) < Phiy) + CO4 () AN® 1314 18 AU ar COx ()~ 30 ¥

1 & -2E00 WVmol
2 5 2321 klimol
3 om #2830 ol
4. 0 37106 Kol
4 %1506 mol
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01:5:53

The normsl bolling point of Bysid X b bess than that ol ¥, which b Jews than that of 2. Which of the [olawing b the correct arder of Increaslag vaper . i
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For nitrous acid, HNO,, K, = 4.0 x 10, Calculate the pH of 0.68 M HNOs.

n

1.« 178
2.0017
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00:42:59

M fomnd that 250 ml. of & gas ol STP has 8 maw of 1 44 B What is the wiolar man? (0 -~ 0082

o 17 pmol
® 113 gl
e 129 piml
a 224 g
® 6220 gl

R
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00:32:40

(ag) » 3 ~Cris)
Fed* (ag) » 2¢= =Fels) Q.40
Fed*(aq) » ¢~ ~Fel* (9 | 01

Usisg the table above, the standard cell potential (Ecell) for the galvamic cell based on the resction helow I 3Su® (ag) & 2O

1. ®+153
2 ®-1.02
3. & +0.89
4 & +1.594
5. 0039
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hmmm& B Cop, Al
L'm

CA0 KT wad ASS- 80 K Iherelare, the reaciion under stand
spontaneous at all temperanmes. L
.g. © spontaneous at tempenatures less than 10 K

+ © spontancous only a1 temperatures between 10 K and 800 K.
4. £ spontancous #t temperatures greater than SO0 K

Scanned with CamScanner



.1-23455139“}””13

01:9:59

Exa -
ctly 235.4.0 will ruise the temperature of 10.0 g of 8 metal from 25°C 1o OO0 What b 1he npecif

L = L49 ) g'C

4 8 13.1.g=C

3. ® 0673 Jg=C
1 56.3 lg°C

5 none of these
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For the reaction A 1 . ¢ D, Al

L = spootaneous at all temperatures

L. % spontaneous at tempertures less than 10 5.

3. ¢ spontancous only at tempertures between 10 K and 800 K.
d & ut temperiures greater than S00 K

5. ¢ nonspontancous at all temperatures.

PO KD and AN tﬂmmh“ dak ittt

I =
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=

‘{mg) + 3¢~ —Cris)
Fel* (aq) + 2e= ~Fe(s)
H"{ﬂ- * 2= s Splt {q

¢S g8

Using the table above, the standard cell potential (E°cell) for the galvanic cell based on the reaction below is 3Sn

1.0 233
2 o -102
3, o +0.89
s +1.94
5. &-D.59
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01 213 : 31

| reaction A+ B — C + D, AR©- | 40 KJ and AS°- 150 37K, Therefore
L @ spontaneous at al] |
| g. :Mu;nt.tnnpmhm less than 10 K.

the reaction under sta
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Question 9/ 29
Amhﬁmuuﬁuuﬂnmmm hyvdrogen, ;
Jg

gtlmntiydrogu are there in a 156:';5' r mﬂMI
Ireld.llldlﬁgfmol) . :

G157 g

C 505¢g

© 309¢g

c 787¢g

c 782 g

NB Wb
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By ) D ol e U b i ]
-‘g.l‘lj SNS 7 R°% 10 1Y 12 43 14 15 15 17 18 19 X

I'
ﬂ'll 48 : 45

Find the valne of the equillbeiuns constant (K.) (at $00 €) for Ny(g) + 3yt~ 2NHs(@) The value for Ky at 500 C ls 18X 10

1o 75x10% '
2 e 13x10? |
37 -ﬁm$
[ A s80x1
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Forthe reaction A + g ., C+D, A" +40 kJ and AS® 50 J/K. Therelore. the i

L. © spontaneous at all temperatures.
2. © spontaneous at temperatures less than 10 K.
3. © spontaneous only at temperatures between 10 K and 800 K.

4. © spontaneous at temperatures greater than §00 K.
- © nonspontaneous at all temperatures.
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Queeation 19/ 30
Cﬂﬂrrlhrrﬂtﬁulll . IJ‘H ZHI whose K = 31.2 a1 2 bigh tempernture. If a3 squal

amounts of reactants ghves the concentration of the product 1o be 1.50 M of equilibrtum
determine the equilivrium concentration of the "1‘

. F13x 10?71 M
L orAasa10”Mm
i r‘?.l‘.'l-:l.lﬂ"llhl
1. c11x10'M

-

<1
. r80x10 M
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00:42:59

1 s fownd that 240 ml. of o ga

a1 STF has o mass of 1,440 g What Is the molar mase? (0~ 0082 Lstm/ B mol - 8114 'K “.u‘_
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01:05:30

For nitrous acid, HNO,, K, = 4.0 x 10™. Calculate the pH of 0.68 M HNO.. :

1. # 1.78

2. ©0.17

3.8 3.57

4 & 1222

5. @ none of these

Previous ||  Next
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One molecule of a compound weighs 2,13 x 10°%* 2. Its molar mass is: !

1. © 20 g/ mol
2. ® 72 g/ mol
3. 0 150 g/ mol
4. © 128 g/ mol
5. = 190 g/mol

[ Provieus ][ hext |
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00:23:0

Order the intermolecnlar forces (dipole-dipole,

e ——

London Dispersion, innic, and hydrogen-bonding) from weakest to strongest ql.m

“ London Dispersion, dipole-dipole, hydrogen-bonding, ionic

© dipole-dipole, London Dispersion, ionie, and hydrogen-bonding

* hydrogen-bonding, dipole-dipole, London Dispersion, and jonic

© dipole-dipole, 1onic, London Dispersion, and hydrogen-honding
London Dispersion, ionic, dipole-dipole, and hydrogen-bonding

A =% ad k) w==

[ Provious ) [ hieat, 1]

S _._—*
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00:22:36
i

For the galvanic cell reaction, expressed below uslng shorthand notation, whil hall reaction sccurs st the eathode? Zas) | 0% loq) § Felng)) !‘ﬂ'ﬂ“_!'ﬂ""ﬂ'

1. o nis) — Zn°"(aq) + 2¢
2. o w(aq) + 2e = Zn(s)
Ao Fe''(ag) + 2¢ —= Fe(s)
4, = Fels) — Fe"(ag) + 2¢
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B Fowe ilve eogeaililon fomm Below ja T 223 5 10 : il AN P, ‘11’1? iy 2"! Yy dE) <> 41T {m)
O m) Wihmt s the smbue of cquilibriian constant Tor the fTollowing seaction st the same
temprratuee™ SUICT () * 20 (@) <> M 1: (=) ' 400 € (m)

1. &1 .5 % ru"

Vi

o |
oS v 10
r
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bl
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o
O=-T.52x 1D

(T Hew
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(M) : 26 : S;I'i

i bppm g = J 1P
koo fosr ilve capuilil fonn below s =57 x 10 " i AN T, ,11"|:;|I A zii: 0y ey c» AI0CWdm) 1
L l'_: () Wt bs it smbae of eoueililsrfren corsimmnd Tod e Tollowiige oeneibon ! (he same

temperatmre™ NICT () ¢ 200 (@) <> 4T () ! -Illr Ty iph

1. ol S0x 107"
% O X tﬂ-‘
o7.52x 10”7
al.7Tx 10°
o-T5S2x 10

L

[ reeviews ]| Memt |
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00 : 58 . 390

Lo stiossm 2 7 13

Tus :It-r_hlllur, which of twao mebils i the stronger, one s Bemnanns
S the equililyrivm cormitm of cancly neid '

O the concatrmion of cavely sneid solution
O the pll of each acid solution
e all of the alvove

- e [ -

[ rveviews ]| Hrut ]
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01:11:22

Calenlate the work for the expansion of CO: from 1.0 1o 2,9 liiers agalnst & pressure of 1.0 atm at conving Iemperatare
© =1.9 liter atm

& 1.9 liter atm

£ 2.9 liter atm

& .|:|.

© 2.9 liter atm

A A

Mrevioe || Brrl
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